STRATEGIES

Product life cycle

BCG Matrix

Ansoff Matrix

Acquisition and integration



STRATEGIES: WHY AND EXAMPLE
PAS LAl

e Understand the thinking of the person who make the strategic

decisions
— Know what information is relevant, obtainable, measureable
— Even provide information that can provide insights / foresights as input for
strategic decision process

— Be able to act proactively for high value added by our information and
services
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e Example: “Another” China electric car company but lithium
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ASSIGNMENT 1

e Any group can add one more member?
e Assignment1l-7%



ASSIGNMENT 1 PRESENTATION

Prepare one page executive summary for distribution before
presentation (have enough copies for everyone)

Should have

— Company name, what they do, size, history

— Macro analysis — major threats and opportunities
— Industry analysis — competitive situation

— Firm analysis — SWOT, value chain ...

— Current situation

A few minutes to read
Presentation / open discussion of 10 to 15 minutes



ASSIGNMENT 1 REPORT

Five pages or less
Executive summary

— Half page summary of external and internal analysis and conclusion
— Only major and most important information should be included
Report

— Describe the current situation of the firm based on importance of the factor
— NOT by models like PESTEL, SWOT ....
— Conclusion on current situation

Email both report and presentation summary to me separately



REST OF COURSE [, /o
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My content is to prepare for these exams
Reading packs focuses on what you should know for these exams
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of ME
REST OF COURSE oy> financs
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SMA Frn
e Macro, big picture, see relationships not piece meal ek

— E.g. NPV expansion and need financing but interest coverage breach

covenant 7y P38 — e A Level > OAcc

— E.g. Story by founder son or sales director about new direction or product to
increase sales but in conflict with some important stakeholders

— E.g. Inefficient capital structure and high WACC but can improve by rights
I)/Q issue, stock dividends, preferred shares, tax domicile, offshore bonds /
bonds in foreign currency

e Must use BOSS / top management perspective = SAME HERE



REST OF COURSE

Meaning?
Think big and inclusive Lind ler-

—

Think interactions

Know when to use tools even if not explicitly stated (even
misleading information might be provided)

Focus of knowledge here on APPLICATION within Big Picture



COMPANY ANALYSIS“BCG{)MATRIX

Portfolio analysis is applicable to products, market segments and Strategic Business Units (SBUs). There are four basic \"(\(c,
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" The BCG Matrix)

Market High Hsl?a:h v nuw;wmmt
9:::“ Low Cashcow | - Dogs
Relative market share
Stars - build

"(,Cash cows — hold or harvest

N
I
MVP

)N‘- tion marks - build or harvest
d - divest or hold

Prublems with the BCG matrix

Simplistic.

®  Strong brand may give competitive strength despite
relatively low market share.

®  |gnores innovation. —

= Dogs and question marks may be needed 1o complete a
range.

= High market growth assumed to be attractive. But will

require significant investment which may not be available. M M

= |gnores competitors other than market leader.

®  Does not indicate overall best mix or fow to build stars and y
question marks MCLV\WZD

Importance of having a balanced portfolio:
» stars to assure the future

» cash cows to supply funds to support future
growth

» question marks to be converted into stars.

Parallels with product life cycle:

» stars — growth phase
) cash cow — mature phase.




COMPANY ANALYSIS
ANSOFF YSIS (ORGANIC GROWTH)
Xﬂ,\/ . %1 \Q) @'} B —657)’3(’

Market development (A%"’ Diversificatio

+ geographic expansion quu(,[ +Inew products and services for new (\/\oo‘\]oom{'b'
+ new distribution channels —

market segmentation b

V\Nﬂ'rj b
+ new target groups - e VA V‘ﬂp bone—

Market penetration | Product development

“advertising W\,o/&- W + new flankers wu ¢ ,(W
+ promotions + SKU diversification

+ acquisitions * incomoration of new features in

+ sales force development existing products
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COMPANY ANALYSIS
GROWTH VIA ACQUISITION

Types of merger _ po® M,,(f M
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COMPANY STRATEGY
COST LEADERSHIP VS DIFFERENTIATION
eay (Porter, 1980

Ueveloping a business stratec %l
st Wz* *

aims 1o be the lowesT cost producer in ﬂ&ﬂ gims to explod a product perceived as unque within the

Lra

Industry as a whole. industry as a whole.
Aspects of cost leadership Aspects of differentiation
R EI“:':'”'I:'miE'E of scake I ® Breakthrough products = radical performancs advantage
m o tha la O lachnd '
E' : ?E.I_ Ies.r r:_m'j_J'.:l' BEANGIOZY (el = |mproved products — supencr perfarmance at a competiive
vestor) or cheap labour rice
- Pr_“#l%“'r“"_"!" Improvement » Competitive producis = unique combinations of features:
" Minimisation of overheads. ~ Brand image
s Favourable access to mpuls, . Gnnkalieahis
. - Unique combination of value activities.
sehlbis . NAA phrts ]

STty is restricted to a particular segment cof the market. Either a cost leadership or differentiation strategy is then
pursued. Such concentrated effort can be more effective, but the segment may be attacked by a larger firm.



STRATEGIC POSITIONING W

Completed generic strategy map

Maximisa organisational values

Revenue growth strafeqy Productivity sirategy Assat uiilisation

Add/retain high-valve Increase revenue Reduce cost per
cuslomers per cusfomer cusfomer

Ys||dwooa0 of Juom 8M JOYAA

Scalability strategi
ability Eb}aglas

(eg w

Innovation & Internal
commarcialisafion oparations governanca &
supremacy excallonce conirol

1. Human capital 2. Information capital 3. Organisation capital
(Staff competencies) [Technology infrastructure) (Climate for action)
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MANAGEMENT ACCOUNTING TOOLS

Cost allocation — fixed and variable cost, relevant costs
Absorption costing

Job order costing

Process costing / Throughput accounting

Activity based costing (“ABC”)

Time driven ABC (“TDABC”)
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e Cost can be classified various ways but total should be the same bt
. Wh;costing important? _ i /M%y(,c )
e How to classify? —  dom ovpany
— Direct versus indirect
‘4 — Product versus period CL 2 - Tax
— Prime versus conversion — maks Sars
— Fixed versus variable «F&m@ A b
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'ABSORPTION COSTING

Catf Bes kot

e G@Garrison Chapter 5 Y / <haneholdo/
* Must be used for financial accounting reporting and tax filing

* Cost of goods sold include all product related variable and fixed

e
cost (allocated) ¢to<™S D\Aﬂlf/ﬁww Jogh medewed [ (ahe

e Use of predetermined usage rate to ccf))st items durmgx ar, then

VoML aM OH K
year end will have variance to adjust for Sudord cost

e While not optimal for decision making (vs variable costing), it is
required and more theoretically correct (accrual basis of Sales
accounting) J’/ﬁ — (g, ol —
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/' JOB ORDER COSTING

Garrison Chapter 8 + AV
Many different products ondar—
Made to order

Trace costs order to orde:;y 5/01,417/ T3] Morp

Suits higher priced / costs7 value unique products
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Garrison Chapter 9 - %‘ Yoo

Single homogeneous product produced conti
uniformly applied process on all units of production

Record input material and process lost along the way

Calculate cost of equivalent units of production for unfinished
products at period end

Back out cost of production (\\ S
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" ACTIVITY BASED COSTING
(\(/UV‘W“

An approach to the costing7and monitoring of activities which
involves tracing resources consumption and costing final outputs.
Resources are assigned to activities and activities to cost objects
based on consumption estimates. The latter utilize cost drivers to
attach activity costs to outputs.

y p oh st M(7

Garrison Chapter 7
Direct materials, direct labor, and other direct cost same treatment

Uses various cost pools based on activities to allocate non-direct
costs



ACTIVITY BASED COSTING

fwlv&mo
9 Govip Avas
Frequently used? by (oW - Huce o o
Activities can be defined clearly and distinctly? Ano A=
. = P
Benefits > costs? lpe. Al

High costs to set up, if process change very quickly then much
lower benefits compared to costs required

Do not separate into variable, fixed, or relevant, had to back track
to normal costing system for other analysis

Required multiple costing systems
If ABC info not updated, provides even worse results
Slacks and down time not fully accounted for

—



ACTIVITY BASED COSTING
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Modern manufacturing environment

Short production runs and lots of variations (phones)

Production changes specs frequently %d/”“ Aol

Production process changes frequently A sl
Multi-task of activities ( machee W)

Some activities involves more than one cost and some cost

involves more than one activity pool / :
/Of(’s'ﬁ‘c ( W@
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The following information is available for Dresden plc, which produces three products:

A B -
Output (units) 20 000 25 000 2 000
$/unit $/unit $/unit
Sales price 20 20 20
Direct material cost 5 10 10
Labour hours/unit 2 1 1
Wages paid at $5/hr
Other information is as follows:
Total production overheads are $190 000
$

Machining 55 000
Quality control and set-up costs 90 000
Receiving 30 000
Packing 15 000

190 000
Cost driver data A B
Labour hours/unit 2 1
Machine hours/unit 2 2
No. of production runs 10 13
No. of component receipts 10 10
No. of customer orders 20 20 2
Required

Using ABC, show the cost and gross profit per unit for each product during the period.

OMNMNMMNEDND



Workings: recovery rates

1 Machine cost

$55000

40 000 + 50000 + 4 000

2 QC and set-up $90 000
10+13+2

3 Receiving $30 000
10+10+2

4 Packing $15000
20 +20+ 20

Machining costs

Quality control & set-up
Receiving

Packing

Total overhead costs

Units produced

Overhead cost/unit

Direct materials cost
Direct labour cost
Production overhead cost

Sales price
Gross profit/unit

=$3 600 per production run

=$%$1363.64 per component receipt

= $250 per customer order

= $0.5851 per machine hour

Total

$
55 000

90 000
30 000
15 000

190 000



TIME DRIVEN ACTIVITY BASED COSTING
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COIle:ptS Hospitals Use Time-Driven Activity-Based

in Action Costing to Reduce Costs and Improve Care

=

In the United States, health care costs in
2012 exceeded 17% of gross domestic
product and are expected to rise to 19.6%
by 2021. Several medical centers, such as the
M.D. Anderson Cancer Center in Houston
and Children’s Hospital in Boston, are using
time-driven activity-based costing (TDABC)
to help bring accurate cost and value
measurement practices into the health care
delivery system.

TDABC assigns all of the organization’s
resource costs to cost objects using a
framework that requires two sets of
estimates. TDABC first calculates the cost
of supplying resource capacity, such as a
doctor’s time. The total cost of resources—
including personnel, supervision, insurance,
space occupancy, technology, and supplies—is divided by the available capacity—the time available for doctors to
do their work—to obtain the capacity cost rate. Next, TDABC uses the capacity cost rate to drive resource costs to
cost objects, such as the number of patients seen, by estimating the demand for resource capacity (time) that the cost
object requires.

Medical centers implementing TDABC have succeeded in reducing costs. For head and neck procedures at the
M.D. Anderson Cancer Center, the TDABC-modified process resulted in a 16% reduction in process time, a 12%
decrease in costs for technical staff, and a 36% reduction in total cost per patient. Prior to implementing TDABC,
managers did not have the necessary information to make decisions to reduce costs.

More broadly, health care providers implementing TDABC have found that better outcomes for patients often
go hand in hand with lower total costs. For example, spending more on early detection and better diagnosis of
disease reduces patient suffering and often leads to less-complex and less-expensive care. With the insights from
TDABC, health care providers can utilize medical staff, equipment, facilities, and administrative resources far
more efficiently; streamline the path of patients through the system; and select treatment approaches that improve
outcomes while eliminating services that do not.

Sources: Based on R. 5. Kaplan and 5. R. Anderson, *The Innovation of Time-Driven Activity-Based Costing,” Cost Management (March-Apnl 2007);
R. 5. Kaplan and 5. R. Anderson, “Time-Drive Activity-Based Costing™ (Boston, MA: Harvard Business School Press, 2007); and R. 5. Kaplan and

M. E. Porter, “How to Solve the Cost Crisis in Health Care,” Harvard Business Review (Scptember 2011); and Louise Radnofsky, “Stecp Rise in Health
Coosts Pronected ™ The Wall Street Tngrnal (Tune 12 20120,




Dresden plc's receiving overheads for its production facility are $30 000, of this, $5 000 relates to
non-receiving costs such as staff training and meetings. Each standard delivery takes 1 hour of
receiving iime, and each complex delivery takes 2 hours. Total receiving time available in the penod
15 200 hours. Product A entails 4 standard receipts and & complex receipts. Production i1s 20 000

unit of Product A.

Calculate:

(a)
(b)
(c)

The capacity cost rate for receiving.
The cost of each standard and complex delivery.,

The receiving cost to be allocated to Product A.

(a)

(b)

Total resource cost
Total available capacity

CCR =

— %$30000-%5000
200 hours

= §125

Standard delivery cost= $125
Complex delivery cost = $125 = 2
= $250

Product A receiving cost

4 standard receipts @ $125
6 complex receipts @ $250

Recelving cost per unit of Product A
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